pidViki 3 ke

DOFDIESE HE | HEW | &t
“HEES 5000| 500M| 5,500
=ZHEESR 5000M| 500M| 5,500
HiEERES 19,000 | 1,900 | 20,9004
RZ-RERES 10,000M| 1,000| 11,000/
23{MAm R EKE 8,500| 850M| 9,350M
i REKEGE S B o=2,x02) | 11,000 | 1,100M| 12,1004
FEENAG—EIL) 16,000 | 1,600M| 17,600/
FEIMNA CILA—R) 26,000| 2,600 | 28,600M
H 2 i 2% 7,000M| 700M| 7,700M
BCG 10,500| 1,050 | 11,5504
K = 8,500M| 850M| 9,350
B=S<{ME 6,500M| 650| 7,150
EEARYA 10,000 | 1,000| 11,000
O4%7vyo (1[EB) 9,000 900M| 9,900M
a47v4 (2[8) 7,000 700M| 7,700H
047y (3EAB) 7,000 700M| 7,700H
T7oreD 8,000M| 800F| 8,800M
ATYRT % 8,000| 800M| 8,800M
BEIATF 2% 6,000M| 600F| 6,600M
W15 8 5000M| 500M| 5,500M
332 6,500M| 650M| 7,150M
RAZ 6,500M| 650M| 7,150M
miRE L 20,000 | 2,000 | 22,000/
RSOAIAR(FLYIARE—) | 25000MH| 25001 27,500H
RSOAILA(FI) A7) 28,000 | 2,800 | 30,800
FEIO0FI4ILRX 15,000/| 1,500 | 16,5004
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